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Question 1.  The following data gives a complete picture of the household, business, government and foreign sectors for country Zerbia for the year 1998.  (All figures are in billion dollars.)


Consumption spending





100


Government transfer payments




10


Government expenditures on goods and services


50


Imports







20


Exports







10


Capital Stock (end of 1997)





200


Capital Stock (end of 1998)





208


Depreciation rate






6%


Interest Rate







10%


Total Taxes







20

a. How many units of capital wore out during the course of 1998?  (1 point)

Answer: 12 billion  
b.  What was the total amount of investment that occurred in 1998 including expenditures on the replacement of worn out capital?  (1 point)

Answer: 20 billion 
c.  What is the value of GDP for this economy in 1998?  (1 point)

Answer: 160 billion 
d.  What is the value of savings for this economy?  (1 point)

Answer: 50 billion
e.  With a macro model that includes a foreign sector we can think of leakages as being equal to S + T + M and injections as being equal to I + G + X.  Are leakages equal to injections for this economy?  (1 point)

Answer: Yes
f.  (4 points) Assume we are using a Classical Model of the economy.  Suppose the government increases its total spending for the year by $5 billion.  What will happen to:

i) The interest rate?

ii) Total private investment?

iii) Total saving?

iv) Real GDP?

Answer: i) increases, ii) decreases, iii) increases, iv) remains unchanged

Question 2.  For this question assume there is no foreign sector.

Draw a graph depicting the situation in the loanable funds market if the government is operating with a balanced budget.  Clearly label the equilibrium interest rate, the equilibrium level of saving, and the demand and supply of funds.  (2 points)

Now, suppose the government decides to run a deficit.  Illustrate this on the same graph being sure to label all changes clearly.  Clearly label the new equilibrium interest rate, the equilibrium level of saving, the new level of private investment, and the demand and supply of funds.  (2 points)

a)     Interest Rate                                                            b)

      

               

                                                  Supply of funds                r’                                          New Demand 

        r                                                                                   r

                                                     Demand of funds

                                                           Dollar (billion) 

                             S = I                                                                  I’                 S’

Question 3.  Zerbia is a country that produces a single type of good called a widget.  Widgets cost 2 dollars a piece and 3 million widgets are currently being produced in Zerbia. The country of Zerbia is suffering an economic downturn.  One economist suggests a solution to the President of Zerbia: drop additional currency into the country using a helicopter.  Prior to the dropping of currency by the helicopter there are $900,000 dollars in circulation in Zerbia.


Use the Classical Quantity Theory of Money to answer the following questions.

 
a. Assume Zebra is in monetary equilibrium (i.e., money demand equals money supply) prior to the helicopter drop.  What is the ratio of desired money holdings to income?  (1 point)  Answer: k= .15

b. If the helicopter drops $45,000 on the country, what will the new price of a widget be?  (1 point) Answer: the new price will be 2.1 

c. What is the impact of the helicopter drop on Zebra's level of real output?  Explain your answer.  (2 points) Answer: In the Classical Quantity Theory of Money when the money supply is increased this results in an equal percentage increase in price level and no change in the real level of output. The ratio of desired money holdings to income is assumed to stay constant in this problem.

d. Another economist disagrees with the helicopter idea.  She recommends that the President should increase government spending on national defense and pay for the increase by enlarging the nation's deficit.  She claims this will increase the real GDP of the country and therefore the average standard of living will be higher next year.  According to the Classical Model will this policy result in any change in real output?  If there's a change, what kind of change in real output will there be?  Give a reason for your answer.  (3 points) Answer: There will be no change in real output because the increase in government spending financed through borrowing will simply crowd out private sector spending, which includes investment expenditure by private businesses and consumption by households, and replace it with the equivalent amount of government expenditure. This results in no change in the real level of output.
